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Maximum marks allocated to this paper are 110. However a candidate who scores 100 marks
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Answer all questions.

1. Give the structures of the products A — C and the reagents D - F in the following reaction

scheme.
CHy
CHsCHBr
dry ether A
D
E CHs

(CHaCH),Cu

G,HsOH

CHs
CH3CHCH,CgHs

(24 Marks)

2. Explain why, the solubility of para nitrophenol in water is higher than that of ortho

nitrophenol.

(16 Marks)




Reg No:

. 3. lemg reasons, propose a suitable structure for the compound P (C9H,,02) of which IR,
'"H NMRiand MS spectra are provided. Assign all 'H NMR signals to proposed structure

2

Give the structures of fragment ions responsible for the peaks at m/e 136, 119 and 91 in the MS.

(Wr ite your answer only in the following box. Answers written in additional sheets are not marked)

(50 Marks)
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4. Giving appropriate mechanism of the following reaction, deduce the structure of the
product with its stereochemistry.

 CH,CH,
"H——CH;  alc. KOH
C|_‘—"C¢5H5

CHa

(20 Marks)



IR, TH NMR and Ms Spectra of compound P (C)pH203)

Ahsorbance / %

0

50

' 1600
R spectrum of .
compound P 1720 1275 1100
luu""[ A AR AL AL B | AL T T
4080 3000 2500 2600 1500 Iooo 500
Wavenwnhers / em™t .
'H NMR spectrum
of compound P
, J N
Integration 2 2 2 3 3
'I T I T l 1 I 1 I T [ ] ] T T l v I T L1 I
11 10 9 =} 7 [ 5 3 2 c
ppm
100 —
Mass spectrum of
’ compound P 119
80—
=
"‘é -
E
2 60~
s
£
;& 40—
91
. 136
164.
20—
4] u|||||l|||m|m||ﬂi||1|Il;l|ilimlig|n1|||||1:|hhm|u|1ulu|un|m“l!uum|m|iii|i|n|i|nl 1im]|m|||||g|E|||n|||m!pmin[m|h{rrn]
25 50 75 100 125 A50

miz







